Mini-Quiz 9 Mo

[10] Leave answers in factored form as reduced fractions. No credit will be given for non-wducet answels or
mixed numbers. Assume all letters are real numbers and that no combination of symbals equal zero in the

denominator.
33 3@ T T® Tl ri
| '\%ffx, :Z};L» ;;L w__)___{ gz ‘s% ) c;
;:}3! {r\- (}‘ . L?{‘.}] x :\ . 9& b Q?{jff, 5}2'-\
Oro 7
) C A
%i( \\\ DT CRVRS L 2o Tz b T L@ o ;:_b‘Jr 5ab
: AT
\ 2 fi (Y 4 N
{ ({z« 1 A i, X‘:”‘J} e o ("‘a\z N A ‘E,i_} - N By

e I O S0 L) e

3

’EE if\ﬁ}‘}

A

e A 3 et

Koo V1 I
SZGQ‘(] f(@)+1

2 @ vy { @ >
YA 0’ —a-d 07wy o) ax
('i;%\‘f)‘s\% olarg) 0 x ()
o)
41wy +—1m‘,m 42 *\? 1, 2
(rc+h)2 R 4R T 2 xe T T D) $2~|~2:L"—|-1 741
, 2

“.\)ﬁ,j%} %h N Q{;Q ¥ o«ﬂ) 7&“ Ty X
(Y e He) ¢
K}'\g Yiﬂ% 1(&7{%{) I 9% ¥
* L %)

o

;@i

ﬂ*‘*\




